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QUESTION 1

What is indicated by a blue enclosure power LED on a 25-slot DPE? 

A. Any outputs or inputs are out of operating range. 

B. AC or DC power is applied and all outputs are in operating range 

C. Any enclosure fault, including SP faults, has occurred 

D. The battery backup system is fully charged. 

Correct Answer: B 

Explanation: 

 

QUESTION 2

A Storage Administrator is provisioning storage from a VNX array to a Windows 2003 host. 
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Which best practice should be considered to ensure maximum performance? 

A. Align the user data on LUNs on a 1024kB boundary with Diskpart 

B. Align the user data on LUNs on a 1024kB boundary using the VNX Alignment Offset 

C. Set the cache page size to 4kB for mixed environments 

D. Set the cache page size to 16kB for mixed environments 

Correct Answer: A 

 

 

QUESTION 3

Which statement is valid regarding tree quotas? 

A. Even root users are restricted by tree quotas. 

B. Tree quotas can be set on existing directories. 

C. Quota trees cannot be nested. 

D. A maximum of 16 quota trees can be created on a single file system 

Correct Answer: C 

Explanation: 
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QUESTION 4

For LACP Load Balancing Considerations, what setting provides the best load balancing per host? 

A. Source/Destination TCP/UDP Ports. 

B. Source/Destination MAC Address 

C. Source/Destination IP Address. 

D. Session ID number. 

Correct Answer: A 

 

 

QUESTION 5

Which feature integrates VNX storage provisioning management within vCenter? 

A. Virtual Storage Integrator (VSI) 
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B. VMware Aware Storage API (VASA) 

C. vStorage API for Array Integration (VAAI) 

D. VNX Unisphere Service Manager (USM) 

Correct Answer: A 
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